
Výsledky ṕısemky z LAZ 14.1.2013

Konzultace ṕısemek a ústńı zkouška 15.1.2013 v T210 v 10h
jméno př. 1 př. 2 př. 3 př. 4 př. 5 praxe teo 1 teo 2 teo 3 teorie známka
Skočdopole Jakub 2,5 4 3 4 3 16,5 1,75 1,75 1 4,5 F

Š́ısl Václav 4 4 4 4 2,5 18,5+2 2,5 2,5 2,5 7,5 C či ústńı na B
Chytrá Kateřina 3,5 4 4 4 1,5 17+3 3 3 2 8 C či ústńı na B
David Miroslav 4 4 4 4 2,5 18,5-1 3 2,5 3 8,5 C či ústńı na B
Juŕık Jǐŕı 0 4 3 2,5 4 13,5 0,5 0,5 1 2 F
Muehl Martin 1 4 1 2,5 0,5 9+2 F
Březina Daniel 0 3 0 1,5 0 4,5-1 F
Nečas Jakub 0 1 0 -1 F
Polák Kryštof 0 0 -3 F
Svobodová Eva 0 F
Vorobyev Vladimir 1 2 2 0 0 5+2 F
Hrabovský Jakub 1 4 3 0,5 1,5 10+5 1,25 2 0,5 3,75 F
Zich Otakar 4 4 3,5 4 3,5 19+3 2,5 2,5 2 7 C či ústńı na B
Novotná Michaela 2 4 1,5 3,5 0 11+4 1,25 2 0,75 4 F
Zvolánková Hana 2 3 2 3 0 10+1 F
Kvapil Jakub 2 4 2 4 1 13+3 2,5 2 1,5 6 D
Velenský Leoš 1 3,5 4 2 0 10,5+1 F

Šos Miroslav 4 4 4 4 3 19+6 2,25 1,75 2,25 6,25 D či ústńı na C
Bakajsa Libor 2,5 4 4 3 3 16,5+7 2,25 2,5 1,75 6,5 D či ústńı na C
Shkut Mihail 2 4 2 3,5 0 11,5+6 2,25 2,5 1,25 6 D
Vaněk Jan 1 4 4 4 2,5 15,5 2,5 3 0,5 6 D
Vyletělová Petra 3,5 4 2 4 1,5 15+2 2,5 3 2,5 8 C či ústńı na B
Kelbichová Alena 4 4 3 4 4 19+5 ? ?
Kralovič Abntońın 0,5 0 1 1,5 0,5 3,5+2 F
Václav́ık Vojtěch 0,5 4 1 1 0 6,5+1 F
Jurášková Karoĺına 2 3 4 3,5 2 14,5+4 2,5 2,5 1,5 6,5 D
Anderle Karel 2,5 4 2,5 4 1 14-1 1,75 0,5 1,5 3,75 F

Šebek Jakub 4 2 1 2,5 0,5 10 F
Ting Ting Chen 0 4 4 3,5 0 11,5 F
Tájek Lukáš 1,5 4 0 1,5 0 7+1 F
Kozmová Nikola 4 3,5 4 1,5 2,5 15,5+6 3 3 3 9 B či ústńı na A
Vobr Filip 2 2,5 3 2 1 10,5 F
Mašlárová Dominika 1,5 3,5 3,5 3,5 4 16+3 2,5 2 2,5 7 C či ústńı na B

Šťastná Natália 1 2,5 3 3,5 0 10 1,75 1,25 1,25 4,25 F
Janská Martina 1 3 2 0 0,5 6,5 F
Kučera Václav 0 2,5 3 3,5 0 9 F
Vı́tek Tomáš 0 0,5 0,5 0 0 1+1 F
Hrubeš Dalibor 1 3 3 3 1,5 11,5 2,75 2,5 1,5 6,75 F
Tran Duc Minh 0 3 3 3 1,5 10,5 2,75 2,5 1,5 6,75 F
Záhora Jǐŕı 3,5 4 3,5 4 2 17+4 1 1,5 1,5 4 F
Svoboda Tomáš 2,5 2 4 3,5 3,5 15,5+3 2,25 3 2 7,25 C či ústńı na B
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